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Paper - 1
PEECERS |

This paper contains Sixty (60) multiple choice questions, each question carrying two (2) marks.
Candidate is expected to answer any Fifty (50) questions.

In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions

will be evaluated.

o T UYTH T WIS (60) Tgahodid UTT & | Hedeh U9 h &t (2) 3H ¢ |

o 37IET T HIS W T (50) U ST |

o I T=T (50) ¥ ARk U9l o IR GF A wem w= (50) U9 & S S |

Photo bleeding means

(A) Photo cropping

(B) Photo placement

(C) Photo cutting

(D) Photo colour adjustment

While designing communication
strategy feed-forward studies are
conducted by

(A) Audience

(B) Communicator
(C) Satellite

(D) Media

In which language the newspapers
have highest circulation ?

(A) English (B) Hindi

(C) Bengali (D) Tamil

Aspect ratio of TV Screen is
(A) 4:3 B) 3:4
© 2:3 D) 2:4

Communication with oneself is
known as

(A) Organisational Communication
(B) Grapewine Communication
(C) Interpersonal Communication
(D) Intrapersonal Communication

The term ‘SITE’ stands for

(A) Satellite Indian Television
Experiment

(B) Satellite International Television
Experiment

(C) Satellite Instructional Television
Experiment

(D) Satellite Instructional Teachers
Education

What is the number that comes next
in the sequence ?

2,5,9,19, 37, ___
(A) 76 B) 74
< 75 (D) 50

1.

TSl SAITST T 31 &

(A) TRIT SR

(B) HIEr T

(C) I ST

(D) IS T HT GHES

AR WA S WET Ao
T fohaeh 5T femalT ST € 2

(A) &

(B) TORSH

(C) wemmee

(D) ¥OR AreH
fHq 9UE THRIR 95 6 gad e

fereor € 9

(A) ST (B) &=t
(C) e (D) dafFe
2l % U H T ST ©

(A) 4:3 (B) 3:4
< 2:3 (D) 2:4
(A) TISATHS FUHoT

(B) THaTE HUSOT

(C) 3Jiqaaferss GuuoT
(D) 3ia:aafee GUwor
‘SITE’ U% &1 Y07 &7 &

(A) Heeme  dfeEd ElENE]
TR

(B) UZARE ST oAl

(C) Ycellgd  SHIRIA oAl
TR

(D) TS THLRMA red TIHe

T Gl B ST i 9t T 3T 9

2,5, 9,19, 37,

(A) 76 (B) 74

© 75 (D) 50
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Find the next letter for the series
MPSV.....
A X
<6 z

B) Y
(D) A

If ‘367" means ‘I am happy’; ‘748’
means ‘you are sad’ and ‘469’ means
‘happy and sad’ in a given code, then
which of the following represents
‘and’ in that code ?

(A) 3 B) 6
o 9 (D) 4
The basis of the following
classification is ‘animal’, ‘man’,

‘house’, ‘book’, and ‘student’ :
(A) Definite descriptions

(B) Proper names

(C) Descriptive phrases

(D) Common names

Assertion (A) : The coin when
flipped next time will come up
tails.

Reason (R) : Because the coin was
flipped five times in a row, and
each time it came up heads.

Choose the correct answer from

below :

(A) Both (A) and (R) are true, and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are false, and
(R) is the correct explanation
of (A).

(C) (A) is doubtful, (R) is true, and
(R) is not the correct
explanation of (A).

(D) (A) is doubtful, (R) is false,
and (R) 1is the correct
explanation of (A).

The relation ‘is a sister of is
(A) non-symmetrical

(B) symmetrical

(C) asymmetrical

(D) transitive

10.

11.

12.

MPSV ..... 39 5@T & AMH T
T EA 2

A X
© Zz

B Y
D) A

TF ST F H AR 367" F o ¥ A
T §; 748’ 1 o ¥ 31T ST
AR 469> w1 37 T I HT T |
& Fretfetfiad § & v g § a0 e
TRT9T I 2

(A) 3 B) 6
<o 9 (D) 4
FEfeAEd aiiehtor o1 U 2

o, cemeHr, wr, feder SR
formmet’

(A) TAfvea ao=

(B) SATFIaTa® AT

(C) dUTHTcHe T o

(D) HEEMR A

3
3

FAA(A) : 3TN TR SVTA STH W
THRAT UF (tails) T |

HROT(R) : % TH 9 UF 9O
B IV T WG
IR Ta1 (heads) TS |

(A) (A) 3R (R) S T & 3R (R),
(A) Ff TE AT T |

(B) (A) 3T (R) T 10T & 3T
(R), (A) & W&l AR € |

(C) (A) 3R €, (R) I ¢, 3R
(R), (A) o T&l = Fal & |

(D) (A) ¥R €, (R) 39 &, 3R
(R), (A) & T&l AR E |

(A) Te-gutEaE
(B) A
(C) TEHd
(D) HHIH
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If the proposition “Vegetarians are
not meat eaters” is false, then which
of the following inferences is
correct ? Choose from the codes
given below :

I. “Some vegetarians are meat
eaters” is true.

2. “All vegetarians are meat
eaters” is doubtful.

3.  “Some vegetarians are not
meat eaters” is true.

4. “Some vegetarians are not

meat eaters” is doubtful.
Codes :
(A) 1,2and3
(B) 2,3and4
(C) 1,3and4
(D) 1,2and 4

Determine the nature of the
following definition :

‘Poor’ means having an annual

income of ¥ 10,000.
(A) persuasive (B) precising
(C) lexical (D) stipulative

Which one of the following is not an
argument ?

(A) If today is Tuesday, tomorrow
will be Wednesday.

(B) Since today is Tuesday,
tomorrow will be Wednesday.

(C) Ram insulted me so I punched
him in the nose.

(D) Ram is not at home, so he must
have gone to town.

13.

14.

15.

“FERERT AEER e 1 A T
FO I ¢, A ffeiad A §
BT w2

1. “I® WHERl AEER e € 1
TIAE |

2. el IMHERT WHEER! Bd &
TE IR T |

3. “PT WHRER WERER TR Ed
TIrwEETE |

4. TS IMHEN AEER Tél o 17
TE RS |

FT:

(A) 1,233

(B) 2,334

(C) 1,334

(D) 1,234

FrfeTiae TR =5 e &

TS B A T o AN B s
3= ¥ 10,000 |

(A) foweEaR®  (B) e
(C) ueHaHT (D) @
feferfiaa Fiear & 9 = 9 gl @t
g9

(A) 3 ST HTAdR €, A el AR
B |

(B) dfh 3 HTeR , el Fuar
0 |

(C) I\ 7 T i T, gHifee
T 3G AT W g9 SieT |

(D) IM W W T&l &, T o IET
TR |
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Venn diagram is a kind of diagram to

(A) represent and assess the truth
of elementary inferences with
the help of Boolean Algebra of
classes.

(B) represent and assess the
validity of elementary
inferences with the help of
Boolean Algebra of classes.

(C) represent but not assess the
validity of elementary
inferences with the help of
Boolean Algebra of classes.

(D) assess but not represent the
validity of elementary
inferences with the help of
Boolean Algebra of classes.

Inductive logic studies the way in
which a premise may
(A) support and entail a conclusion

(B) not support but entail a
conclusion

(C) neither support nor entail a
conclusion

(D) support a conclusion without
entailing it

Which of the following statements
are true ? Choose from the codes
given below.

1. Some arguments, while not
completely valid, are almost
valid.

2. A sound argument may be
invalid.

3. A cogent argument may have a
probably false conclusion.

4. A statement may be true or

false.
Codes :
(A) land2 (B) 1,3and4
(C) 4 alone (D) 3and4

If the side of the square increases by

40%, then the area of the square
increases by

(A) 60 % B) 40 %

©) 196 % D) 96 %

16.

17.

18.

19.

I AU 3T YR S SRUMW &, S

(A) oM & fetd Terstisn ol 7SE 9
WIS STHMT H Feddl
Aiatfeee S GoaiehT T § |

(B) @M & qfeta= Uetsiisl &l AT &
W STAET T ST
TAfTe 3 Joaieh e € |

(C) wﬁ%mmﬁwaﬁwﬁ
WATHE  SEMT Pl ST H
afatfae Y &, W] Jodisw
TeT T |

(D) @M & FfeTaT TeASTsn Hl 7T o
WS SEMl Bl ST H
e Sl §, TR A
TET AT |

NTHATCTS  TheNE,  Fiokaame  fohd

THR

(A) F=pd wm m@EER AR 3EH
ST X T 3T AT & |

(B) TI=hd o1 @me el e, eifug
3TH FTTHA A B AT
FATE |

(C) TIoFY &1 A1 ot THLA T &,
& STk ST B BN T
FATE |

(D) f=p8 & FHIA Far €, fhq

3T ST FHA H 3TEFAT Tal

T |
= gfaa w2 5 @ B9 ¥ F2F 9
%?ﬁwgfaﬁ T

@qﬁrﬁm@ﬁw a9y & € A
YA Y & |

2. 29 AT 319y & Hehdl € |

3. fvam® goa § 9ved: TTod
Tt & T € |

4, oYUM TEHS AT TS

T GHATE |
T
(A) 132 (B) 1,334
(C) HaT4 (D) 334
Ifg ol T H 40% g et & a
ST T &R @l &
(A) 60 % (B) 40 %
(C) 196 % (D) 96 %



20. There are 10 lamps in a hall. Each
one of them can be switched on
independently. The number of ways
in which hall can be illuminated is

(A) 107 (B) 1023
©) 2" (D) 10!

21. How many numbers between 100
and 300 begin or end with 2 ?
(A) 100 (B) 110
(©) 120 (D) 180

22. In a college having 300 students,
every student reads 5 newspapers
and every newspaper is read by 60
students. The number of newspapers
required is
(A) atleast 30 (B) at most 20
(C) exactly 25 (D) exactly 5

The total Co, emissions from

various sectors are 5 mmt. In the Pie
Chart given below, the percentage
contribution to CO2 emissions from

various sectors is indicated.
Thermal

power
sector

Domestic
sector

Commercial

Transport sector

sector

23. What is the absolute CO2 emission

from domestic sector ?
(A) 1.5 mmt B) 2.5 mmt
(©) L1.75 mmt (D) 0.75 mmt

24. What is the absolute co, emission

for combined thermal power and
transport sectors ?

(A) 3.25 mmt B) 1.5 mmt
©) 2.5 mmt D) 4 mmt

W-00

20.

21.

22,

TS BT H 10 o & | 399 9 Ui i
AT § § {1 ST Hehel & | &ToT ol
Tora TRIhT 9 eI [ohaT ST 9ehall & 2
A) 10% (B) 1023
() 2 (D) 10!

100 3T 300 & o= fora =g 2 &
HII YRR 3 AT gl & 2

(A) 100 B) 110

(©) 120 (D) 180

T i 9 300 B & | Ul B 5
TR 0 Ygal & 2R Ucdish THER 0
60 BT RT YT ST & | TATER U7 b
TohcT ST e © ?

(A) HFF FHF 30

(B) IR § S9TET 20

(C) W25

(D) TS5

%ﬁ?&ﬁﬁ@%COzﬂﬁ?Smmt
T A @ U W b, ot om |
CO, I & Tfd Wi AR 30T
T e |

adiE
Tl &4

fieeT &3

23.

24.

35% R &

15%

20%
30%

T W] &7 9 Fo CO, S
fope & 2

(A) 1.5 mmt (B) 2.5 mmt
(©) 1.75 mmt (D) 0.75 mmt

AT STl T R & I 9 Ihg
1 CO,, ST a1 & 2

(A) 3.25 mmt B) 1.5 mmt
(©) 2.5 mmt D) 4 mmt

P.T.O.



For Blind Students Only
(Questions 23 —24)

23. Which of the following is not a
measure of central tendency ?
(A) Mean (B) Median
(C) Mode (D) Range

24. In a normally distributed data
set, what percentage of data points
lie between mean * standard
deviation ?

(A) ~67% B) ~50%
©) ~97% (D) ~37%

25. Which of the following operating
system is used on mobile phones ?
(A) Windows Vista
(B) Android
(C) Windows XP
(D) All of the above

26. If (y), represents a number y in base

x, then which of the following
numbers is smallest of all ?
(A) (1111), (B) (1111)g

(C) (1111)y, (D) (1111)4

27. High level programming language
can be converted to machine
language using which of the
following ?

(A) Oracle (B) Compiler
(C) Matlab (D) Assembler

28. HTML is used to create
(A) machine language program
(B) high level program
(C) web page
(D) web server

29. The term DNS stands for
(A) Domain Name System
(B) Defense Nuclear System
(C) Downloadable New Software
(D) Dependent Name Server

W-00

23.

24.

25.

26.

27.

28.

29.

Fad greaneat & e

T 23-24)

fr=fefaa & & &9 a1 = s &
T e € 2

(A) T (B) e
(C) =EH (D) wWH

I Y ¥ foaid ofee 99w o
e + A [Oae & s 3T 6
AT AT 0T & 2

(A ~67% B) ~50%
O ~97% D) ~37%

AEEA ®iF T F=frad § 9 i 9t
TR Tl SUFNT ! Sl € 2

(A) Teifr (B) wgEs
(C) forerm XP (D) 3Uge |

aﬁaﬂxﬁ(y)xﬁ@ryﬁ'ﬁqﬁmfi
t freferiad | 9 i 91 e ofga| & 2
(A) (1111), (B) (1111)

© (111),, (D) (1111),,

I WE WU 9T B eiehd |
T TR SUATT Tk AN 9T H 5l
ST Hehell € 2

(A) A (B) HHZR
(C) T (D) IR

HTML (V.3 THTA) 1 IYIT T
T o ford foman ST € 2

(A) T 9T ST

(B) =9 & H UMW

(C) o= U

(D) o« WX

DNS (107,19, U5 &l arcad &
(A) =UF A faen

(B) Tty foerar fawen
(C) TIFARTA = FiedaX
(D) fTeuse 49 HaR
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IPv4 and IPv6 are addresses used to

identify computers on the internet.

Find the correct statement out of the

following :

(A) Number of bits required for
IPv4 address is more than
number of bits required for
IPv6 address.

(B) Number of bits required for
IPv4 address 1is same as
number of bits required for
IPv6 address.

(C) Number of bits required for
IPv4 address is less than
number of bits required for
IPv6 address.

(D) Number of bits required for
IPv4 address is 64.

Which of the following pollutants
affects the respiratory tract in
humans ?

(A) Carbon monoxide
(B) Nitric oxide

(C)  Sulphur di-oxide
(D) Aerosols

Which of the following pollutants is
not emitted from the transport
sector ?

(A) Oxides of nitrogen

(B) Chlorofluorocarbons

(C) Carbon monoxide

(D) Poly aromatic hydrocarbons

Which of the following sources of
energy has the maximum potential in
India ?

(A) Solar energy

(B) Wind energy

(C) Ocean thermal energy

(D) Tidal energy

30.

31.

32.

33.

[Pv4 3T IPv6 Td (Tg@) & e
TGN TS W FHPHRT I T A
% ford o <t & | Fefated § 9
TEl I T DI

(A) IPv4 & fod omfed foem =t
T@m IPv6 UgH & o emfem
foeg il Gen ¥ =R |

(B) IPv4 TgH % fod arifera foew
H T IPv6 TgE & fol
st foew =t g & e
g

(C) IPv4 tgw & fod arifera foew
%t W= [Pv6 TS % ot emafera
fem e FA ¢ |

(D) IPv4 Tgw & T arifera foew
64 B € |

frefeafed & & 9 @1 WS 7T &
TG AT T AT B € 2

(A) HET HHI-3TTAES
(B) TRl IHiaTEs
(C) HTH SRS
(D) wrHed

Pt & & 9 2 v et Al
& INEET & | Tl cqroid f A 2

(A) SHRIEEH 3 e
(B) FARGCRIHETT
(C) ohTeF HIHI-3TATES
(D) iffet Tfeeh BregEHTTE

ol & Afigd &d § 9 i q@r

qRA | 3Afepdy qrTeg (V) TEdT & 2
(A) HR =T
(B) @ (amg) it
(C) sl i it
(D) SR Il
P.T.O.
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Which of the following is not a
source of pollution in soil ?

(A) Transport sector

(B) Agriculture sector
(C) Thermal power plants
(D) Hydropower plants

Which of the following is not a
natural hazard ?

(A) Earthquake

(B) Tsunami

(C) Flash floods

(D) Nuclear accident

Ecological footprint represents

(A) area of productive land and
water to meet the resources
requirement

(B) energy consumption
(C) CO, emissions per person

(D) forest cover

The aim of value education to
inculcate in students is

(A) the moral values
(B) the social values
(C) the political values
(D) the economic values

Indicate the number of Regional
Offices of University Grants
Commission of India.

(A) 10 (B) 07
(©) 08 (D) 09

One-rupee currency note in India
bears the signature of

(A) The President of India

(B) Finance Minister of India

(C) Governor, Reserve Bank of
India

(D) Finance Secretary of
Government of India

34.

3s.

36.

37.

38.

39.

oI | WUl B || HAEfeted § 9
I T TET & 2

(A) UREET &

(B) i &

(C) dmd= STt o

(D) ®TEgl IR gy

frfafga & @ 9 O Uiplas IsT
TR E 2

(A) Y

(B) g

(C) ST H-aTE

(D) FTRTRIT e

TRfefe i I et s ¢ 2

(A) TEEAT H SAETIRATS B G
FH & [T IARH Y T 5
T &

(B) T @ud

(C) ufT =R CO, S

(D) a7 &

oo Torem 1 32T oo™l & W o
FAMIEE HET &

(A) e et b1

(B) QIS Heal

(C) ST goat st

(D) 2T godt ot

IR # fovafaeme™ oFEH M %
&I HrATeTEl AT TAY
A) 10 B) 07
(C) 08 (D) 09

IRA H TH T H qRT W fHaH
TEAER B € 2

(A) R & T

(B) 9RA & forq w5l

(C) ¥Rdg =g % & TR

(D) ¥Rd WHR & fod qraa
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Match the List — I with the List — II

and select the correct answer from

the codes given below :
List -1

(Commissions and
Committees)

(a) First
Administrative
Reforms
Commission

(b) Paul H. Appleby (ii) 1962
Committee I

List - 11
(Year)

(1) 2005

(¢) K. Santhanam (iii) 1966

Committee
(d) Second (iv) 1953

Administrative

Reforms

Commission
Codes :

@ b © @@
A O G 3G Gv)
B) @) @Gv) @) @)
(C av) @) i) @)
(D) @) @G @Gv) (i)

Constitutionally the registration and
recognition of political parties is the
function performed by

(A) The State Election Commission
of respective States

(B) The Law  Ministry  of
Government of India

(C) The Election Commission of
India

(D) Election Department of the

State Governments

The members of Gram Sabha are

(A) Sarpanch, Upsarpanch and all
elected Panchas

(B) Sarpanch, Upsarpanch and
Village level worker

(C) Sarpanch, Gram Sevak and
elected Panchas

(D) Registered voters of Village

Panchayat
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B) (i) Gv) () @)
© Gv) G) G @
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(A) TErad TS % o9 HarEd
3TN gRT

TR HLhR o fafe Hamerd gy
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(B)
©
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(A) T, STHRUT e gt Faitad
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EADEN

UM =TT o UStigha HagTa
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©
D)
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44.

45.

46.
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By which of the following methods
the true evaluation of the students is
possible ?

(A) Evaluation at the end of the

course.
(B)
©
D)

Evaluation twice in a year.
Continuous evaluation.

Formative evaluation.

Suppose a student wants to share his
problems with his teacher and he
visits the teacher’s house for the
purpose, the teacher should

(A) contact the student’s parents
and solve his problem.

(B) suggest him that he should

never visit his house.

©

suggest him to meet the principal
and solve the problem.

(D) extend reasonable help and

boost his morale.

When some students are deliberately
attempting to disturb the discipline
of the class by making mischief,
what will be your role as a teacher ?

(A) Expelling those students.
(B)
©

Isolate those students.

Reform the group with your
authority.

(D) Giving them an opportunity for
introspection and  improve

their behaviour.

Which of the following belongs to a

projected aid ?
(A) Blackboard (B) Diorama

(C) Epidiascope (D) Globe
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&9
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A teacher is said to be fluent in

asking questions, if he can ask

(A) meaningful questions

(B) as many questions as possible

(C) maximum number of questions
in a fixed time

(D) many meaningful questions in
a fixed time

Which of the following qualities is

most essential for a teacher ?

(A) He should be a learned person.

(B) He should be a well dressed
person.

(C) He should have patience.

(D) He should be an expert in his

subject.
A hypothesis is a
(A) law (B) canon
(C) postulate (D) supposition

Suppose you want to investigate the
working efficiency of nationalised
bank in India, which one of the
following would you follow ?

(A) Area Sampling

(B) Multi-stage Sampling

(C) Sequential Sampling

(D) Quota Sampling

Controlled group condition is
applied in

(A) Survey Research

(B) Historical Research

(C) Experimental Research

(D) Descriptive Research

Workshops are meant for

(A) giving lectures

(B) multiple target groups

(C) showcase new theories

(D) hands on training/experience

Which one of the following is a
research tool ?

(A) Graph (B) Illustration
(C) Questionnaire (D) Diagram

Research is not considered ethical if it

(A) tries to prove a particular point.

(B) does not ensure privacy and
anonymity of the respondent.

(C) does not investigate the data
scientifically.

(D) isnot of a very high standard.
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Read the following passage carefully and answer the questions (Qn. Nos. 55 to 60) :

The catalytic fact of the twentieth century is uncontrollable development, consumerist
society, political materialism, and spiritual devaluation. This inordinate development has led
to the transcendental ‘second reality’ of sacred perception that biologically transcendence is a
part of human life. As the century closes, it dawns with imperative vigour that the ‘first
reality’ of enlightened rationalism and the ‘second reality’ of the Beyond have to be
harmonised in a worthy state of man. The de facto values describe what we are, they portray
the ‘is’ of our ethic, they are est values (Latin est means is). The ideal values tell us what we
ought to be, they are esto values (Latin esto ‘ought to be’). Both have to be in the ebb and
flow of consciousness. The ever new science and technology and the ever-perennial faith are
two modes of one certainty, that is the wholeness of man, his courage to be, his share in
Being.

The materialistic foundations of science have crumbled down. Science itself has proved
that matter is energy, processes are as valid as facts, and affirmed the non-materiality of the
universe. The encounter of the ‘two cultures’, the scientific and the humane, will restore the
normal vision, and will be the bedrock of a ‘science of understanding’ in the new century. It
will give new meaning to the ancient perception that quantity (measure) and quality (value)
coexist at the root of nature. Human endeavours cannot afford to be humanistically
irresponsible.

55. The problem raised in the passage reflects overall on
(A) Consumerism (B) Materialism
(C) Spiritual devaluation (D) Inordinate development

56. The ‘de facto’ values in the passage means

(A) Whatis (B) What ought to be
(C) What can be (D) Whereitis
57. According to the passage, the ‘first reality’ constitutes
(A) Economic prosperity (B) Political development
(C) Sacred perception of life (D) Enlightened rationalism

58. Encounter of the ‘two cultures’, the scientific and the human implies
(A) Restoration of normal vision
(B) Universe is both material and non-material
(C) Man is superior to nature
(D) Co-existence of quantity and quality in nature

59. The contents of the passage are

(A) Descriptive (B) Prescriptive
(C) Axiomatic (D) Optional
60. The passage indicates that science has proved that
(A) universe is material (B) matter is energy
(C) nature has abundance (D) humans are irresponsible
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TATAREd IR=ST i HYEE Tgah U9 3. 55 ¥ 60 T % I {1

e IS P IORE qA AT IR, ITTER U, TSI Hifdeharg de
AT T & | TH SRETITG b = uferst are i eArhic) “fgcfiar arfassar @i 3 vgw
Torar & o Sifaes ¥ 9, SAliaear HHar Siio i & B0 € | odest o 3id H, I STearevds ae &
T T gT (o U5 IfeaR Bl UAH IRATTRAT TAT AR TGl araiaehdl’ 1 T &l
g2 ferfq & dveor o S =ifed | geaen goa guRT foeror 39 € 9 guRy Afdwar & ¥ H
femor e €, 3 U goo € (AT A § e 7 3 ¥ e € 1) | SN g g6 I A § o g’
T BT AMe, I TR Yoo € (e 9mon | T 1 37 & ST g fed) | ST B gHRT AT o SaR-
T T 9T T A | e T fasme qen viefent 3R wvad favery ue & Heearensar &
w9 &, A1, T IS DI U, SHRN STEedl 1 Qed 3T RIS GaT § SR IIER! § |

T o fifqer SmuR eRemE & T | fowe 3w fag o) e & 6 s € et 8, ae &
T & uikATt 3y €, 3R 38 g7 off fag # fear ¢ % smmve onadifae € | A2 vt § Sente
3T AT ‘THT TEHAT FTHROT REHI0T I -2 HOM R A6 THT Dl SR
T | I T YU g B U A1 31 ol fR Ul T SMYR O X AT § |
A ST9 AT TR o Ufd 1T STEeR 7 e T € |

55. U= H wrad 9@ ¥ €9 9 5 9T formm el & 2

(A) STTFER (B) ifdepars
(C) e STaea (D) 3TETHRY g
56. UN=ST H ey ot AT &
(A) FE (B) &1 €T Afed
(C) FE HFHaT & (D) wETT
57. UR=IS % IUR, WUT RGOSR H T Gt g g 2
(A) 3T FgEa (B) TTiifdes faepra
(C) T Sty (D) VH TrgaT

58. O AT HHET 3 GEH(AAT & HeT S aed &
(A) T HIVT St G |
(B) sEIUE Hifdqer qur T wifde g1 & |
(C) HFE, Thia il I H S & |
(D) Wehd B HIET T 0T i e[

59. =T W fawEas]
(A) ToRoTeHS ¢ | (B) frwma® |
(C) wWafage | (D) HTHE |
60. UNE=T 3T o & foh fom = fog e 2 T
(A) sEUS Hifdwm € | (B) SA ST |

(C) UHdH TgaAdT ¢ | (D) HHE IR SR E & |
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